Progress test 5 Units 9 and 10

Choose the correct answer, A, B or C.

1

10
11
12

13

B

The wording of the ............ in their latest advert is more powerful than the old one.

A brand B slogan C verdict

That guy over there looks just like Brad Pitt, but it ............ be him, surely?

A can't B musin’t C mightn’t

They wanted to give her the job but she was too ............ for the work involved.

A inappropriate B inexperienced C immoral

By 2050, everyone ............ using petrol-fuelled cars.

A will stop B will be stopping C will have stopped
Their girl singer has a remarkably ............ voice for someone so young.

A wide B huge C deep

| was a bit nervous ............ but | soon got used to being in front of the audience.

A atonce B atfirst C atlast

| A hard for children who worked long hours in a 19th-century factory.

A could have been B might have been C must have been
In June, they ............ to Portugal for a whole month.

A ’llgo B 'l have gone C ’regoing
Although a brilliant historian, the professor holds very ............ ideas about politics.

A low B narrow C small

This ............ be the answer to our problem, but we’ll need to check it out carefully first.
A can B must C could

The two sides have been ............ for ten years and much of the country is ruined.

A atwar B atrest C atpeace

If you make some sandwiches, we ............ bring something to drink.

A are goingto B will C would

Driving above the speed limit is dangerous. ............ , it’s illegal!

A What’s more B However C On the other hand
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A

In the story, the main character has ............ to his happy childhood.

A memories B flashbacks C thoughts
Chris always said he ............ be here for my birthday, but | didn’t believe him.

A will B isgoingto C would
They’ve chosen an unusual ............ to film the new commercial in.

A position B situation C location

In this new book, Tremain is back at ............ and looks set to win a major prize.

A her best B her latest C her worst
e, whether I’ll have much time to look around on this trip.

A reckon B doubt C admit
Francesca and Tomas ............ the same subjects next term.

A will have studied B  will be studying C will have been studying
There ............ well be people living on Mars in the next century.

A may B must C can

Why are you still wearing that ............ jacket?

A old awful leather B leather awful old C awful old leather
People who don’t earn very much need ............ accommodation.

A reusable B capable C affordable
My little brother gets very ............ with me when he wants to get on the computer.
A irresponsible B impatient C irregular
The film was made on an extremely low ............ , but has been a big success.

A price B budget C amount
Their son ............ with them over New Year for the first time ever.

A won’t be staying B won’t have stayed C won't stay

OBJECTIVE FIRST FOURTH EDITION - THIS PAGE MAY BE PHOTOCOPIED ~ © CAMBRIDGE UNIVERSITY PRESS and UCLES 2014
PROGRESS TEST



